Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: S_ORS18_Z48N_N5_VT100 v = (1+ - Lx\) / Ly -L*n)
Buntton: h*g = 32/360;h* ¢ = 230/360

atg=ar —aty ~ e [atw @]

b*a=b* —b*y = japr [b*w " b*y]
+ —rgr 2 2,12

Helligkeit L*T Craba=[a%” +b%’]




Beziehung CIELAB (L*, a*, b*) und adaptiertes (alCIELAB ( C*p o L*)
System: S_ORS30_Z48F_N5_VT100 |+ = (L* - L% )/ Ly -L*n)
Buntton: h* = 35/360;h* ¢ = 233/360

atg=ar —aty ~ e [atw @]

b*a=b* —b*y = japr [b*w " b*y]
+ —rgr 2 2,12

Helligkeit L*T Craba=[a%” +b%’]

(C*apam
L*w)
Buntheit C*ap o




